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TEHAR TE=CEESR | MR W JFRIEER R FE5E
301 01 = 503 201 01
301 02 B HEOH| 203 01
301 03 5 45082 202 04
301 04 B 2 Ok 203 02
301 05 = FeO5F 201 20
301 06 5 E=(O) 203 06
301 07 5 BROBE 201 06
301 08 5= 40 203 08
301 09 5= TOf 202 08
301 10 5 BO¥ 202 09
301 11 5 =50 203 10
301 12 = OB 203 12
301 13 g SFOHF 203 13
301 14 U ¥ O™ 201 12
301 15 5oy SO 202 13
301 16 L8 B Onz; 201 21
301 17 7 TO% 202 15
301 18 2 085 203 17
301 19 2 HOE 202 17
301 20 5oy BHOR 202 20
301 21 . FROZ 201 19




FeFFSHELFRITERI)E II0FER = # %E 5 HmITES%

TEHAR TE=CEESR | MR W JEDEAR R FE5E
302 01 5= FO1E 201 02
302 02 = gHEOTE 201 03
302 03 5 #ROF 202 05
302 04 5 BEONE 202 07
302 05 5 ENQ)=S 201 04
302 06 5 BROZE 203 05
302 07 5 HO%F 201 07
302 08 = Z0f= 201 08
302 09 5B PROFN 202 10
302 10 5 RO 203 11
302 11 = A0 201 09
302 12 B MOZE 201 10
302 13 2z HO%% 203 14
302 14 Jo8 =0 203 16
302 15 5oq ROt 202 18
302 16 2 EOE 201 14
302 17 Jo8 = Ok 203 18
302 18 528 ROZE 201 16
302 19 7 TEOBS 201 18
302 20 L7q EIOH 203 20
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303 01 5 %012 202 01
303 02 5 PROtH 202 02
303 03 5= FOE 202 03
303 04 5 HOE 202 06
303 05 5= HO 203 03
303 06 5 HO% 203 04
303 07 5 =OG 202 21
303 08 = HOE 201 05
303 09 5 =OMM 203 07
303 10 = SEOF 203 09
303 11 5 M OfF 202 11
303 12 B BOE 201 11
303 13 Loy HOZ 202 12
303 14 7 2O 203 15
303 15 Loy =007 202 14
303 16 g°q ZZLONF 201 13
303 17 U 20 202 16
303 18 5y ZIOBE 202 19
303 19 5y 210 201 15
303 20 58 HEOFHE 203 19
303 21 Loy HE O 201 17




